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05 S-2 BEESEAS 39,950 40,530 A580
DEE=Ea= 35,600 36,080 £480
Jlzag 2326,000,0002! 26,000 26,400 A400
CEEEE 7 85,200,0002 5,200 5,280 A80
CRE=ES= 2:4,350,0002 4,350 4,450 A100
BN H 64,691 66,231 A1,540
BA I 16,337 16,376 A9
101 o124l 8,917 8,950 AS3
VIBEBTEES =P 8,917 8,950 A33
CEEBIIEINE 8,917 8,950 AS3
LI 276,567,000 6,567 6,600 AS3
206 2| 4,920 4,926 N
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B A2 el 18,354 19,855 A1,501
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02 IZ2Y| 16,355 17,855 A1,500
CNPEETIES 217 13,860,000%! 13,860 15,360 A1,500
405 THAHE S 1,999 2,000 At
01 RMUSEH S| 1,999 2,000 At
WAHA 2B 252 29 1,999 2,000 At
on2e NLsE 247999, 0002 999 1,000 At
HHSAAL (HES) 160,550 158,350 2,200
oz 2y 60,714 62,014 A1,300
ol 2yl 60,714 62,014 A1,300
101 o124l 48,176 49,476 A1,300
01 24 48,176 49,476 A1,300
WAt 2R g 2173448,176,0002 48,176 49,476 A1,300
p[CET 99,836 9,336 3,500
2 99,836 9,336 3,500
201 L2y 69,512 66,012 3,500
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